Exit Ticket I1 - Substitution into Formulae

Correct Answer: AB CD

Explanation:
What is the value of the following expression?

bC ..........................................................................

52 a 7

25 B 10 | e
AQAD =. Correct Answer: ABCD
- - Explanation:
A= prz

Which of these is the value of { whenp =3 andr =4 ?

A B C D

19 144 24 -

Correct Answer: A B C D

Explanation:
What is the value of the following expression?

2b2 ..........................................................................

50 B 100 --------------------------------------------------------------------------
625 B 20 | e
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